“FRAPPY"”
{Free Response AP Problem...Yay!}

2001

N Problem #1 The following problem is taken from an actual Advanced Placement Statistics Examination.
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Your task is to generate a complete, concise statistical response in 15 minutes. You will be graded
based on the AP rubric and will earn a score of 0-4. After grading, keep this problem in your binder
for your AP Exam preparation.

Lydia and Bob were searching the internet to find information on air travel in the United States.
They found data on the number of commercial aircraft flying in the United States during the years
1990-1998. The dates were recorded as years since 1990. Thus, the year 1990 was recorded as year
0. They fit a least squares regression line to the data. The
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(b)  What is the value of the slope of the least squares regression line? Interpret the slope in the

context of this situation. S {Nreoek 1 we.
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(C) What is the value of the intercept of the least squares regression line? Interpret the intercept
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(d) What is the predicted number of commercial aircraft flying in 19927
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(e)  What is the actual number of commercial aircraft flying in 1992?
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